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PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/B/ C/D. Each part carries one mark.

{t) A student claimed the diameter of a wire as 1.032 cm using vernier callipers. Upto what extent
do you agree with it?
A tem B. 1.0 ecm C. 1.03cm D. 1.032 cm
(if) What are the significant figures in the measurement ©.00450 kg?
A 2 ‘ B. 3 C. 5 D. 6
{1ii) Which one of the following represents uniform acceleration?
d d 4
A > ® > !
v ? v T
C >t D M; t
{iv) A change in position is called:
A Speed B. Velocity C Displacement D. Distance
(v} Which one of the following is the unit of momentum?
A N B. kgms * C. N D. Ns'
(v1) The number of perpendicular components of a force are:
A 1 B. 2 C. 3 D 4

{vil} The value of 'g’ on moon’s surface is 1.6ms > What will be the weight of a 100 kg body on the
surface of the moon?

A 100N B. 160 N C. 1000 N D. 1600 N
{viii) The work done will be zero when the angle between the force and the distance is.

A. 45" B. 60" C 90° D 180¢
{ix) The kinetic energy of a body of mass 2 kg is 25J. Its speed is:

A Sias B. 12 5ms C. 25ms ™ D S0ms™
{x) Which one of the following substances is the lightest one?

A Copper B Mercury C Aluminum D. Lead
(X1 Which one of the following material has large specific heat?

A Copper B. ice C. Water D. Mercury
(x1) What happens to the thermal conductivity of a wall if its thickness is doubled?

A Becomes double B Remains same

C. Becomes half D. Becomes one fourth
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PHYSICS SSC-I
(Revised Syllabus)
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M Time allowed: 2:40 Hours Total Marks Sections B and C: 53

[l NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer bhook. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x3=33)

(0 The sun is one hundred and fifty million kilometres away from the earth. Write this:
a As an ordinary whole number
b. In scientific notation

(i) Your hair grow at the rate of 1 mm per day. Find their growth rate in nms™ .

(iii) Can a body moving at a constant speed have an acceleration?

(V) Find the retardation produced when a car moving at a velocity of 30ms™" siows down uniformly to 15ms™
in 3s.

(V) Why is it dangerous to travel on the roof of a bus?

(vi) A force acting on a body of mass 5 kg produces an acceleration of 10ms™ . What acceleration will the

same force produce in a body of mass 8 kg?

(vil) In a right angled triangle length of base is 4 cm and its perpendicular is 3 cm. Find.
a. Length of hypotenuse
b. sin ¢
C. cosf)
{viit) Differentiate between torque and couple.
(ix} Why does the value of ‘g’ vary from place to place?
(x) Which form of energy is most preferred and why?
(xi) What is meant by the term power? Write its 57 unit.
(ii) A barge, 40 m long and 8 meters broad whose sides are ver‘tical, floats partially loaded in water. If

125000 N of cargo is added, how many metres will it sink?
(xiii) Explain how does a submarine move up the water surface and down into water?

(xiv)  Define latent heat of vapocrization.

(xv) Explain why 1s double walied glass vessel used in thermos flask?
SECTION — € {(Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q.3 a Prove graphically .S = v/ + ;arj : (04)
b. Write a note on rolling friction. (04)
c. A body has a weight of 20 N. How much force is required to move it vertically upwards with an
acceleration of 2ms ™7 (02)
Q.4 a. Derive formula for speed of artificial satellite. (05)
b. Write a detailed note on work. (05)
Q.5 a Derive formula for pressure in any liquid. (04)
b. What is meant by specific heat capacity? Explain. (04)
c. Convert 100" F temperature into ceicius scale. {02)
— 18A 1707 (L) —
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Roll No. F o ii o - Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.
PHYSICS SSC-I
SECTION - A (Marks 12)
Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C ! D. Each part carries one mark.
{i) Which one of the following units is not a derived unit?
A. pascal B. kilogram C. newton D watt
(i) 300000000ms 'in standard form is written as
A 310y B. 310 ms™! o 3 10%ms ! D. 3% 10" ms ™!
(iif) Which one of the following is a vector quantity?
A Speed B Distance C Displacement D Power
(v} A car starts from rest. It acquires a speed of 23my  after 20s. The distance traveiled by the car

during this time is

A 3125m B 250 m C. 500 m D. 5000 m
(v) inertia depends upon:

A Force B. Net force C Mass D. Velocity

P.—PF
(v1) = =7

!
L
A m B a C - D. ma

(vil) A body is in equitibrium when its:
A Acceleration is uniform B. Speed is uniform
C. Speed and acceleration are uniform D. Acceleration is zero

{(viil) Earth's gravitationai force of attraction vanishes at:

A 6400 km B. Infinity C. 42300 km D. 1000 km
{ix} The work done in lifting a brick of mass 2 kg through a height of 5m above ground will be:

A 2514 B. 104 C 50J D. 100 J
(x) 1P =7

A. 8N~ B. ERVIT C. 2Nt D. YT
(x1) Mercury is used as thermometric material because it has:

A Non Uniform thermal expansion B. High freezing point

C. Small heat capacity D No cofour

(xil) Which one of the following is a good radiator of heat?
A A shiny silvered surface B. A dull black surface

C. A white surface D. A green coloured surface

For Examiner’s use only:

Total Marks: IL 12
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Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly.

SECTICN — B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11x3=33)

(i) What is meant by atomic and nuclear physics?
(i) What role S/ units have played in the development of science?

(iii) Find the acceleration from speed time graph shown in figure:

vimsh

i
1
|
i
|
]

H 3 1 {5
10 15 20 &

1 fe

of

{iv) A train slows down from 804mh ' with a uniform retardation of 2ms™ . How long will it take to attain a
speed of 20kmh ' ?

(v) A cyclist of mass 40 kg exerts a force of 200 N to move his bicycle with an acceleration of 3my

How much is the force of friction between the road and the tyres?

(vi) Why is fastening of a seat belt necessary while driving?
(vii) Where will be centre of gravity of the following objects?
a. Triangular sheet b. Uniform circular ring
C. Solid cylinder
viii) A force of 50 N is making an angle of 30" with x-axis. Find its perpendicular components.

|\
{ix) What is meant by gravitational field strength? Explain.
(X Explain how does the value of ‘g’ vary with altitude?

{(xi) Write names of three parts of solar house heating.

(xi) Mention the characteristics of kinetic molecular model of matter.

(xili)  Why is water not suitable to be used in a barometer?

(xiv)  Why is mercury preferred as a thermometric substance?

(xv) Explain why a metal feels colder to touch than a wood kept in a cold place.

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q.3 a Prove graphically 2aS =V, -}/ (05}
b. Define centripetai force and derive its formula. (1+4)
Q.4 a What is meant by resolution of forces? Explain. (1+3)
Define kinetic energy and derive its formula, {(1+3)

c. The acceleration due to gravity on the surface of moon is 1.62ms . The radius of moon is
1740 krn. Find the mass of moon. (02)
Q.5 a Write a detailed note on variation in atmospheric pressure. (05)
b. State Pascal's Law and write a note on its one application. (1+4)

———18A 1707 (ON} —
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